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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: | g&rct Rftr ® foeer # @ fFw a = S amar &
1. Discussion method / faaR-faaret fafey

2. Question- Answer method / T#R fafer

3. Lecture demonstration method/ ITEAT Wl fafdy

4, Inquiry method / J&ars fafdy

Correct Answer :-

« Question- Answer method / g#R fafer

2) Law of Exercise stresses the importance of ____in learning. /375910 &1 fAa® 3w & _ & #Agcg W I 4T ¢l
1. Reward / GTEPR

2. Readiness / dcUdr

3. Practice / 371818

4. Impact / YHTT

Correct Answer :-
o Practice / 31&ITH

3) According to Carol Dweck’s Mindset theory, an incremental view of ability means . | FeT sﬂﬂ? F AAEAT & ﬁz}na F TR, &7H T
¥ UF Jgq T¥T FT AdAA |

1. a stable and uncontrollable trait. / T 2R 3R faafFa fadmwar)

2. a characteristic of an individual that cannot be changed. / Teh gfp T faAudT T ggar & ST HbaT &

3. a set of intellectual capabilities a person possesses. /g eTaan3t &1 v qq==T St U <gfth & O @idT g1

4. an ever expanding repertoire of skills and knowledge. / Hierel 3R T T UF w faear|

Correct Answer :-

« an ever expanding repertoire of skills and knowledge. / &ITeT IR AT T TH ﬁ?ﬁ?l’ IEar|

4) According to Piaget, children experiment with sounds during the ./ picics HIER, T ¥ ke eafaat & @ g &3 § |
1. Preoperational stage / Tq‘—ﬂﬁ?mm (Eﬁéﬁ’W) SIART

2. Concrete operational stage / 3 HfhaTcared (Fhic ATTRRAT) IHaEAT

3. Formal operational stage / 31 WfhaTcad (BleTel HTORIS) €

4. Sensorimotor stage / FAE Weh raEAT

Correct Answer :-

« Sensorimotor stage / TAE Rk raEAT

5) Why is the learning environment important for active learning? / @f$a 3fOH & fav 3rf@are &1 gRQer F4i HWT\UT &



1. To build knowledge through collaboration. / TEANIT & HATEIH & AT &l fGhd ot & forw |
2. There are no assessments. / Ehélé JTheled Hﬁl
3. There is no need to engage with the content. / TTHAT & Tled gl &1 3TTTRAT 8T &l

4. It uses multiple resources. / Ig Hs THTUAT T TIWT HAT

Correct Answer :-

« To build knowledge through collaboration. / TEATIT & ATEIH & A &l fwad wa & fow |

6) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? / TR&FHT #I FAAEATGS Ay &t Sl d sravar [fdse
W & RrereEedr # gt 32

1. Identity vs. identity confusion / UgdId ¥ Ugdld Fifa
2. Generativity vs. stagnation / SlellcHdbdl Il EARAT
3. Trust vs. mistrust / TH8TE a7 ATTAE

4. Intimacy vs. isolation / &f8dr & faewaar

Correct Answer :-

« Identity vs. identity confusion / UEdT IATH Ugdl Hifa

7) Which of the following is least likely to be a sign of depression in adolescence? / fFURETYT & A & F T T FT THd A FT FHIGAT &2
1. Sudden drop in marks / 3i@ # @S FRET

2. Missing classes / @&T & IR gIOR e

3. Withdrawing from friends / @r&dl & g &l

4. Changing friend groups / T8 Hagl & agerar

Correct Answer :-

+ Changing friend groups / T Hagl &I agerar

8) Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / 211'-'?3!33? * ITER gAH A FIT-UT FIT ‘deRdT AT FT
T ITOT quid FIAT §?

1. It means that drill or practice helps in increasing efficiency and durability of learning. / Z@eT 31 & 5 uferor a1 3r3ma 3ifea i garar 3R Teanfca &
JEe # Feg R

2. Tt means that preparation or disposition of the subject contributes to learning. / F&&T 31 & 6 fwz & =& a1 Tawma 3w F Ag= ar &

3. It means that the organism changes its response till an appropriate behavior is hit upon. / 3&®T 31 IF ¥ fF 16 3ugd c¥aer & TR 8 dF Sa A=A
gfafthar seerar wam #

4. Tt means that trial and error leads to connections being formed. / S8 31 & 6 vora 3R I & FROT FI9 I ¥l

Correct Answer :-

« It means that preparation or disposition of the subject contributes to learning. / @ 3 & &5 fawy & Jard a1 Tgomg 3o 3 Dergr= &ar &
9) The ability to think rationally and act purposefully is ./ aFEIS T ¥ WA 3R IRA alF & FE F ;e 2l
1. Reasoning / d&

2. Perception / 3JHfd

3. Intelligence / g

4. Creativity / Jdalcaddl

Correct Answer :-

« Intelligence / &



10) The term Bandura used for explaining, overall process of social learning is .1 950 & HiES F FHT FHASE IR F gAeE & v B ug a7
v R & |

1. Self-efficacy / HTcH-FHTARIRAT
2. Conditioning / 3feJgelet
3. Vicarious reinforcement / Uedfpd Tdeled

4. Modelling / 9fa&qoT (ATSToT)

Correct Answer :-

+ Modelling / 9fa®qoT (AiSToT)

11) are considered to be the most important factor in students’ achievement and successful implementation of
inclusive classroom. / &1 fagamdt Fr suafey it wwmaeht Fan F awe FRfTads F Fa@ AgcaqOr FRE AT
ST

1. Teachers / fA&TH

2. PrincipaI/W?JTFfrﬂRfl
3. Supervisor/q?f{a&“l’cﬁ
4. Counselor / HelTghR

Correct Answer :-

« Teachers / 8T

12) Which of the following theorists believed in the role of biological maturation in the development and learning process? / Fafafaa o

P A RIgiaeR e 3R siftrm &t uftkar & Sfaw ufvuear st yfier wR faysy w32
1. Kohler/aﬁER
2. Skinner /f&Ra

3. Vygotsky / ATSaTTcED
4. Piaget / TSt

Correct Answer :-

o Piaget/ s

13) Reasoning is studied under ./ & siavfa arfbear &1 sreoa= faar sirar %I
1. Social development / TSR TIhra

2. Cognitive development / TTATcHS TIhre

3. Physical development / MIRe R

4. Personality development / Zafthea T

Correct Answer :-

« Cognitive development / T=iTATcD TaBIT

14) Child development refers to the ’ and changes that occur in human beings between birth and the
end of adolescence. / ITd fasRT & arerd , 3R gRadl | & S 99 & 9 3R fPRIRTawT & 3fd & dig
ek

1. Biological, Psychological, Emotional/ éﬁ'cﬁ, ?Fl?ﬁﬂﬁﬂ?-ﬁﬁ, HTIATCHD
2. Qualitative, Empirical, Quantitative/ J[OTcdHe, AT, ATATcHD

3. Childhood, Adulthood, Adolescent/ S, TIFhAT, fFAR



4. Infancy, Early, Late / 90T, STegl, &3

Correct Answer :-
« Biological, Psychological, Emotional/ éﬁiﬁ, ?Fl?ﬁﬂﬁﬁiﬁ, HTIATCHD

15) India signed the United Nations Convention on the Rights of Persons with Disabilities (UNCRPD) in which of the following year? /
YRA A fawain afdl & fieRY 3 WY AP T (UNCRPD) R e & @ fora o ) gwaner fre?

1.2006

2.2007

3.2008

4,2005

Correct Answer :-

- 2007

16) Gifted children are good at / UfaHTITeh o= fhg Heuf #f Jgar g 22

1. All of the above / 3Td® T

2. Ability to quarrel with others only / del 3T & TTY SIS T O T A
3. Ability to solve problems only / hael THETATIHT B T TA DI JTJAT A

4. Ability to help teacher only / Fad e Bt Tgrid B Bt A o

Correct Answer :-

« Ability to solve problems only / dhael THETATIHT P Tl B I AoaqdT

17) Abraham Maslow propounded which of the following theories of motivation? / 3ISTEH AT A RN & fAaferfad Rigidl § 9 feas!
ufaurfea fear?

1. Humanistic Theory/ ATIaE Agid
2. Incentive Theory/ U3 f&gid

3. Drive Theory / 315d RAgid

4. Expectancy Theory/ 3T0&TT fagid

Correct Answer :-

« Humanistic Theory/ HATATAREI A

18) What are some ways to help children develop problem-solving skills? / = # TU® Jag & HId fapfd w33 A
TeE HI1 & O AP FT8?

1. Be a helicopter parent — do not give children space to make mistakes. / Th SEBIZR AFYHTED 5 - T BT AT B BT AR
3l

2. Avoid giving children the chance to make tough choices. / T DI wfed fawe YA BT T 37 T § |

3. Make problem-solving a fun part of the culture of your home. / THRIT-FHTY 1 304 TR B WHId BT TP HoIGR 68T S|

4. Children must be protected from experiencing failure. / Tl P 3AHIAT Pl THAT P F TATAT TifeT|

Correct Answer :-

- Make problem-solving a fun part of the culture of your home. / THRI-THIUT PI U TR B! APH{d BT Tdb HolGR [gwdl a1

19) In Freud's view, development is a process. [/ BIAS ¥ feR ¥, e e ufehar 1



1. Continuous / fAXaR

2. Random / IR TTS®H

3. Active / GfhT

4. Discontinuous / 3feRax

Correct Answer :-

« Discontinuous / 3fATaR

20) What type of forgetting occurs when information in our memory stops us from recalling other information that is also stored in memory?

/99 g Tfa # el g T # §Udia 3o IEEHt # AG F @ Awdt §, O e veR @ i@ el 82
1. Decay / Udd

2. Delay / faeia

3. Cue-dependent forgetting / Fehd-3MIRA HeT

4. Interference / 37T

Correct Answer :-

« Interference / 3TaRIY

21) What type of a learner is one who learns best by watching movies or documentaries? /

s et s feent a1 gafast & d@aw wad oot draar € a7 e gwR 1 Rt 32
1. Aural / FUTEFI=AY

2. Kinesthetic / T

3. Reading/writing / U& / i@l

4. Visual /7 T

Correct Answer :-

e Visual / T

22) What type of language theory focuses on the inborn capacity of infants to learn language? / #TST Wl a & e fﬂ'Q_I"Bﬁ & SeAd
STHAT W FE 9HR &1 A Rgyia $Ra @2

1. Behaviourist theory / aeRr fgid
2. Nurture theory / WyoT R¥gia
3. Instinctual theory / ¥&aT Rgid

4. Nativist theory / Tl AAdIGT Agid

Correct Answer :-

« Nativist theory / Hgol SIGEIAREHG]

23) A detailed information about the individual’s ancestry is collected when the following method is used to measure personality. / ST

wfdde # AR F v e R &1 s B amar § &t @ f gt & TR § v Bega Jee’ & 8@ a2
1. Interview / HT&TTCHR

2. Case History / &g el

3. Projective tests/ J&TCT TT&ToT

4. Questionnaires/ THTdeIT

Correct Answer :-



« Case History / && RET

24) If the teacher has to know about the students’ strengths and weaknesses before the instructional materials are organized, the teacher
should conduct: /

IR feTF F FAEATcHS AT F) Fafeyd N @ 9gd oE A afFaar 3R FARTT F a0 & e & o Reis F 7 F7T
AT FAT TR

1. Summative Assessment / GRITId HeATdhed
2. Diagnostic Assessment / A&T{ed HedTdhed
3. Interim Assessment / ARH HedicheT

4. Formative Assessment / TIATcHS Hedihel
Correct Answer :-

« Diagnostic Assessment / GTTeleh FHedrdmd

25) The creativity of the child can be most appropriately brought forth by giving in the class. / F&TT & THT T A
TAATeASaT H 3T T F WHAS AT AT FhaT B

1. Homework / J[Eerd

2. Notes / fecaforar

3. Impositions / 3RIgoT
4. Assignments / ﬂﬂﬂ?&ﬁ

Correct Answer :-

« Assignments / THIGRH

26) Visual problems get solved more comfortably than verbal problems, during which stage of cognitive development? / 2 FAE Afas
TR A o H HF JH F, AEACHS P F R awor F ghier g g g ol @2

1. Concrete operational / EFLT-‘[ TihATcHS (dhhle TUNRIAT)
2. Preoperational / tﬁj-ﬂﬁﬁﬂ'l?ﬂiﬁ (FT3TIRRI)

3. Formal operational / 37dd HRFATcAE (HidTel TURLAT)
4. Sensorimotor / TIET U (TTHAEI)

Correct Answer :-

« Concrete operational / ?FLT-T TitpaTcA® (e JTaRR)

27) What dilemma did Kohlberg present to children in his study on moral development? / P o WY AfAF RET & regya &
Tl FY FAT gRAUT TEGA 2

1. Hector’s dilemma / %-_CRT &fr gﬁm’l’
2. Heinz’ dilemma / &7 &r ES%TQJT
3. Mary’s dilemma / 37 &7 E;ﬁﬁﬂ
4. Henry’s dilemma / &1 &1 E_,:ﬁfﬂT

Correct Answer :-

e Heinz’ dilemma / ?u_rf fr E,: aY

28) Which of the following is least effective in educational implication of attention? / AFafaf@a & ¥ ¥ cu=r & M@ Afgard &
fowerasr et &7



1. Theory talk / &g arar

2. Audio — visual aids / €T —HcT 3UICI

3. Gestures and movements / HTG-HAAT 3k afafafy
4. Incorporation of variety / fafaerar gamae=

Correct Answer :-

« Theory talk / gl ardr

29) Aptitude tests are indispensable tools at the hands of to provide educational and vocational guidance

services. / Ak 3R AR ARG FATY TG FTA & RIC STUERTAT TR &1 3ifvard Suao 21
1. Teachers / T1&Tept

2. Friends/ 3t

3. Doctors / Rfepcgent

4, Counsellors / FelTghRT

Correct Answer :-

« Counsellors / Hellgh By

30) Assessment results of a very strict yet effective teacher’s class are below average. The factor that is impacting
learners in this class is the -/ T®% 9gd & H8® dfe- YHTH R1ere o1 & nwas & uikomy 3Ed & $H g1 98 SR & 39
warm A Rranfidl B yvifaa s w1, P &

1. complexity of the topic / fawar &7 Sifeerar

2. boredom of learners / & &1 i

3. relationship between the teacher and learners / f1a7er 3R Ranfdat & dra Fayg

4. relationship between new content and old content is not clear / % &l 3R gTR'—ﬁ A F T qEY TUE A6

Correct Answer :-
« relationship between the teacher and learners / {67 31X Rt & g goy

Topic:- General Hindi (L1GH)

1) Ao @-vge auf # g0 GEAS f GEHTa A 0F 9371 6T AT T SN-SHI-IS-HIIR-IHA I Fad A0 R dF WAT A T T IW ARG F oY
& aeT A 3uaey § IR 3@ af 3T ARA A o Wl oeneTer X g A b g ¢l HT 9 FE oft @, I AN A-arer-anr g B & SN wre
TS’ (U@ $eten) FT T ot 3 ae) F G 991 ¥1 3H GRC §F' H TR, qgew Al %5 A9 A §| wF TR A Fo @ a7 qw DA Gl qgew Iww
waad: Rl § AT sewed T8 @I aﬁmm%ﬁ%ww#ﬁw—#mﬁﬁmqﬁﬁaﬂw%lWawaﬂ#hwﬂ;aré‘an?ﬁtrwmﬁ
aF s Alg &, ﬁﬁmmﬁw#aﬁﬁmﬁawﬁ#wm#mmmr&%l

39T ACARN B IGH aAre U T qoeT F7 301 Ty ¢
TR TET WEFIA FEl A 87

1. gfREf R

2. GfaToT HRA

3. q@f %R

4. 37X ART

Correct Answer :-

o 3N ARG



wF & e,

& & adl,

& iy Al F art Fw7 Sg;

wF & g,

& & adl,

AE-arE Hife-Rife grat & et Hr ARk
& & A,

aY &r g,
TIAR-gAR @l Hr A 1 o7

wH FT 87

3R o 7o ¥

At & el #1 91g § I

gt & Faet Y AT }
srft-Frei-Tael A @1 apor et §

TR ¥ T A Rt F

Rwrer gam i ¥ gar A R w1

SUYFT TSI F TeH AN AT AT o FT I qARY -
Wo: B T §7

1. afedt & gt @1 Sg 3R FRarEr & el w1 vor aRHH aat
2.3 § IS T

3. b fRaEt & AT & PR TRAA

4. haer ARG F Tl T TG,
Correct Answer :-

o dfeE & gl @7 Sg 3R AT & Tt P HOR IR gt

3) & & a4,
Q& g,
T wr At & o F@ a;
F & g,
Q& g,
AE-aE HifE-FIfE grat F Taet f afEm

T & 7,

ar # a7,
FTIAR-GIR Wil 1 e &1 aor
HT FIT §?

A FT AR A

afat & aeh &1 o ¥ 9w

gt & wuet iy Aer ¥
srfi-Frei-Heel Ad 1 aor e ¥
iR & wxsr A ot

Rwrer gam dr & gar v A 1l
I9GFT TSI F UG AN U AT WoF FT I q@TSY :
e e §1Y BHS F FHT SIS 82
Lar gy

2.5 & IS G

3.Th A
4. Pife-Pife @

Correct Answer :-

. Ff-AR a

SrE-aTE FR-AR g & Faeh AR



& &Y g,

ar #r adl,
FTIAR-gAR Qal A T 1 o7
HT FIAT §?

I Fo AR aE

afeat & arlt #1 og ¥ 9w

gt & Toet fr AR ¥
srfr-areh-sael fedt 1 apor e ¥

T § qIS A B #

Rwrer gam dwra ¥ gar i R 1l
IYFT TS F GGHT AN AT AT weT FT I T :
W GHA IS § HAIF Acq FAT 82
1. hgel UTEr

2. hadl AT TRAA

3. %ga facd &1 sduerfe

4. 3R T

Correct Answer :-

. 3R G

-G PR g ¥ et A e

& # T,

ar #r o,

FTIAR-EIR Wl A A &1 ot e

wEA FAT 2

A Fo At aw

afeat & arh #1 9G¥ 9w

gt & Tuet A AR ¥
orfi-Frei-Heel e @1 aor e ¥

TR § qIor A1 ol a7

Rywrer gam @ § g1 A w1

I9LFA UG F TGH AT U T 7o FT I q@HY ¢
eeT: B P WHT qaa F Frgdr QeTenHT gt &7
1. el AT &T

2. el HOR TRHHA FT

3. hael AfGAT @r

4, 3RH Tt pr

Correct Answer :-

o 3R T Fr

6) TF & ad,
Q& g,
& wr At & o F@ a;
wF & g,
ar & adl,
AE-aTE HifE-FIfE grat F Taet f afam

T # ad,
ar #r ad,
FTIAR-IR Wit 1 A &1 aor e



wH FT 87

R & g Tl ¥ aw

At & el FT I1g § I

gt & waef o AR ¥
sr-aTell-saeh Mg @7 aor e ¥

TR § IS B RO w7

Rwrer gam i ¥ gar i R 1l

3UFd TSI F GGHN AN T AT WA FT I T :

9eeT: 1Y HT WA ereg T & @ Fia-ar ¢t 72
1&g

2.9
3. 88

4. Y

Correct Answer :-

7) = ¥ N,
Q& ad,
T Y Al F arEr F7 Ag;
F & e,
QY & g,
ATE-ITE FIfE-FIE grat & Faet A A=

T # ad,
ar #r adl,
FTAR-IR Wt 1 e 1 o

HT FIT §?

B

afeat & arlt #1 og ¥ 9w

gt & Faet i AR ¥
srfi-Frei-Heel A 1 aor e ¥

TR § qIT A B &

Rsrer gam @i & gar iy A 1l

I9GFA TSI F TGH AT U AT 7o FT I q@TSY :

TR FIST HT GHEAT eg §72
1. dad fETa

2. Fael gI

3. thdel YR

4. S FH

Correct Answer :-

o 3R ot

8) Tw & =,
ar & adl,
& Y Al F art Fw7 g
wF & g,
& & ad,
AE-arE Fife-Rife grat & oot Hr AR

T A,
ar #r i,
TIAR-GIR Wt 1 A &1 o7 e

AT FT 2

i
afeat & arelht #1 og ¥ 9w
Tt & Tt AR ¥



srfi-Frei-Hael A @1 apor et ¥

TR & qys A o #

Rwrer gam dwr ¥ gar i R 1l

3UYFd TSI F GGHN AN T AT We FT I T :
R HHT T e eeg w2 ¥

1. |@&g

2. Gpfaa

3. Tt

4. T

Correct Answer :-

9) wF & g,

3t ¥ adi,
& wly At F awt F7 g
& & a7,
a F T,
G- Hfe-Hfe gt & Faet fr aRkEm
wF #Y
& #r g,
TIAR-gAR Qal A T 1 o7
HT FAT §?
I
AR & el FT g § T
Tt & et Y Afar

srft-Frei-Hael A @1 aor et ¥

TR § qIS Pt wr

Rwrer gam i ¥ gar i R 1l

3YFT TEI F GGHT AN AT AT et T I q@BY :

T ‘B Usq AET A F T §?

1. gfeerr

2. Ehfefr
3,503 & PIS G
4, 390fas
Correct Answer :-
. Ehfemr
10) vF & =g,
QY & =g,
& Y Al & aredr Fw7 S
TF & e,
Q& g,
AE-aE HifE-FIfE grat F Tt f afam
& H T,
&Y & g,
FTIAR-EIR Wl 1 A &1 o7 e
wEA FAT 2
iAo A ¥ aw
At & ol F1 I1g § T
gt & Taet v ARAT §

srfi-Frei-Heel e @1 aor e ¥

TR § qIor A1 ol a7

Rysrer gam @ § gar A w1

39LFA TSI F TGH AT U T 7o FT I q@3Y ¢
U ‘GAT FI AGHT A FIA-AT §72

1. =R



2.8

3.

4.darg

Correct Answer :-

TG PR g ¥ s A e
& H T,

a e,
FIAR-EIR Wl 1 A 1 or e

HHT FIT §?

I Fo At aw

afeat & arh #1 9 ¥ 9w

et & waet A Afgar ¥
orfi-Freil-Heel P 1 aor e ¥

TR § gy A1 ol Fv

Rywrer gam wr § gar A w1

IULFA YSHT F TGH A U T 7oA FT 3 qa@T3Y :

Wt U 1 A ereg T gm?
1. 31T

2. |1

3.5 @ T

4. fagar

Correct Answer :-

o 3O
12) @ ¥ A,

q F ad,
T wr At & o F@ ag;
F & g,
ar F a4,
AE-IE Hfe-HfeE grat & Tt i aiam
& H
ar & i,
FTIAR-GIR Wt 1 A 1 or
HT FIT §?
A FT AR aE
aft & ot &1 o ¥ 7w
g1t & Faet A ARAT ¥

srfi-Freil-Heel Aed 1 aor e ¥

T & wxsr A Rt #r

Rwrer gam dr ¥ gar iy AR 1l

I94FT TSI F UG AT U AT ToF FT I q@TSY ¢
TRT: ‘GI FH TCHA Asq HiA-AT §?

1.8

2, gred

3.58d

4, &fa=h



Correct Answer :-

. BEd
13) @& & ¢,
QY & g,
& wr Al & o w7 A
wF & e,
& & adi,
AE-arE Hife-Rife grat & et Hr afkem
T #Y g,
ar #r o,
TIAR-GIR Wt 1 A 1 o7 e
AT FAT 2
I gAY TE
afeat & ol #1 og ¥ 9w
gt & Fat f Akew ¥

s-rell-Haeh e @7 aur e ¥

T § g A o #
mgmm%m#ﬁmm

IYFA T F GHT AN T AT Mo T I q@RA

WeeT: §AT FT GATIAT qeE Fh-av g 87

Loy
2. @A
3. g

4. &

Correct Answer :-

o g
14) & ¥ ad,
& F e,
& wr afEt & o w7 A
wF & g,
& & adl,
qE-aTE Hife-Fife gt F Tt f afam
wF #Y g,
ar #r adl,
TIAR-gAR Qal A AT 1 o7
T F4T 2
I Fo AR aE
afeat & arlt #1 ag ¥ 9w
grat & Taet fr ARAT §

srfi-Frei-Hael A @1 apor et ¥

TR & qys A o a7

Rwrer gam dra ¥ gar i R 1l

3UYFT S F GGHT AN AT AT weT FT I TR :
wReT: Tl ey e A & F 7

1. gfer

2. Eifefar

3. sarfoi

R

Correct Answer :-



15) @& & ¢,
& & g,
& iy Al F awt Fw7 S
& &
& & adl,
AE-arE Fife-Rife grat & et fr afkwm

& #Y g,

ar #r o,
TIAR-GIR Wil 1 A &1 o7 e

wHT FAT 2

IR Fo AR T

afeat & ol #1 og ¥ 9w

gt & Fat ) Akew ¥
srfi-Frei-Heel Al 1 aor i ¥

T § GO A R #
mgmm%m#ﬁmm

IYFT TSI F GgHT AN RT AT W T I q@ARA
9o ‘B FAT ¢7' IE HH YHR & a9 ¢ -
1. JHdTdh

2. FIUdrdeh

3. HTIdTdh

4. gHgATah
Correct Answer :-
o UHAdIdh

16) Rod gu-UgE a9 # FAN WU A FEFA A UF 9371 qqAT HAT §| SSCA-SIHI-IST-WI-THH 7 FIA GAOT ARG A AT AT 1 T I ARG F o W A A
3ueey § 3 3@ o 3UX aRa A ‘erar WPl deeer Q¥ wr A o g B 39 a9 @l oft g, s sl Adi-gren-amr wmuw e & SR wRe |3 (G He)

#1 aaa oft 93 ol F GF o1 ¥ 3 BRE §F A R, q3ed A 75 AN wfAS | F FEwW A Fo § @1 g% AT GOwedls qEew 39 wwaa: el F Qe seeE

et @ g Aerew qeew & Y §8 W F @ FHA-A-FA geo-g3 W IR @ g5 §) 76 e awh F 75 TUehT v R nh aF 6 Aleg @, Al e § 7%

e w0 30 ¥ v F S o o @ ¥

IUGFA AR FY GgHT A RT 7T W 7 3/ qa3Y :

wee: Ao s adt @ gl @e-ae A depha aqd 32

1. 593 ¥ S &

2. gH-Uge asi &

3. ar-cfie auf &

4. IR-UTT aut &

Correct Answer :-

. &H-Uge auf @

17) Rod qu-Uge au # AN WU A FEFA A UF 9371 9qAd HAT ¥ SSN-SNHI-IST-HIN-TEH 7 FIA GAOT AR T AT A 1 T W 4R F ot W aww A
3Uaey § I 3T A 3T ARA A TEr WA awmeer Q@ A # b g T T T FwE o &, I el Ad-ar-anr I e & I HRe |37 (A o)

F1 o ot 93 U A @A o1 T 3H GRC |F A TN, 3o oA F§ A WA | F FAW A Fo @ A1 aF AT Al q[gew 39 wwa: el F v e

aE W) g TAeew Eew ¥ I 97 ¥ F @ FAF-FA qod-g¢ Wit RRT & 9% &1 s e FHEE F 7§ wuEn 5w R el a0 Aleg 6, afFa srRew & w8

frafa w7 3 @ W & s g o @ E

IUGFT MCIN F GgHT AT RT 7T w7 30/ Ty :

woT: BIE |3 F HE 74T 87

1. AraT Hrate

2. Meredr & IR fRar S arer Hiee

3. 3Ah Hote

4, Uger § U I@T I1AT Aol
Correct Answer :-

o fTar ¥ JIR o = aren ST



18) Rod qu-UgE au # FAN WU A FEFA A UF 9371 9qAT AT ¥ SSA-SHI-IST-HIN-THA 7 FIA GAOT AR T AT A §1 T IW 4R F ot W aww A
3ueret § 3R 3T o 3w AR A ‘orar WEphar aeerr QU & H ter gAY ¥ I 39 FE¥ ot €, IW ey Ad-grer-amer srawt e € IR B | (GG o)

F1 o ot 93 U A QA o7 ¥ 3H GRC §F A TN, q3e oA F§ A WA | F FAW A Fo @ A1 aF AT gl [gew 3T wwa: el F v e

aE W) g TAeew qgew ¥ I 97 ¥ ¥ @ FAF-FA qod-g¢ Wt RRAT @ 9% &1 s e FHEE F 7§ wuE 9EwR el aw ad Aleg 6, afF srefRew & w8

rafa w7 3o @ W & s g o @ §

I9GF ACIN F GGHT AT RT 7T W 7 37/ Ty :

9T ST F S FAT A &7

1. 3rrorEl

2. 3T

3. idd

4. aRfea

Correct Answer :-

19) Rod gu-ige aut # s TEUE A TFQA F vF T3 9qAT 3T T FTA-NW-II-AR-TEH 3T FaA AT RS a7 AT A ¥ A W ORT F N w aww A
3UeeY § 3R 3T o 3O ARA Y erEr WPl dereer Qv & A b g B 79 9w oft g, sw s Adi-gren-anr e e & SR wRe | (qUE $er)

1 e oft 93 aEt A @A 91 ¥| W ‘ORE [F' A @R, qzew oWt w35 A9 T §) vF FEE A o @ A aw A Al qEew I@ waa: Rl F R o

e @ g ey qeew & Yo §8 W F @ FHA-A-FA gea-g3 @ RAEAT @ g §) 76 W aAwhT F F§ w7 5E R nh a6 Aleg @, Al s § 7%

RFrefia w7 3ot & @-wX # s T o @ §

IUGFA AN FY GgHT AT T 7T T 7 3/ qa39 -

Wl ‘BRE |3 H FAT WA §7

1. 503 ¥ P F&T

2. TR AR TJgeu gt

3. Fael TR
4. had el

Correct Answer :-

« TR IR FEou

20) Mo qu-UgE a9 A FAN WU A FEFA A UF 9371 9qAd HAT §| SSCAI-SIHI-IST-HIN-TEA H FIA AT ARG dF WA A 1 T I 4R F ot W A A
3uaey § 3R 3T A 3T HRA A FEr WA dwenr Q@ & F b g §1 @ T FE N g, I awc Qd-are-anr I B & I HRe |37 (A o)

#1 o oft 93 Ul # G o1 ¥ 3 BRE §F A R, 3o o F5 A M | F FA@W A Fo § A1 gF AT GRS qEew 3w waa: Bl F Qe e

et @ ‘g ey qeew & Yo d8 W F A FHA-A-FA geo-g3 W R @ g5 §) 76 e TR F 7§ TUeT 5N nh aF 0 Aleg @, Al arefew § 7%

i w7 3t & oo & s a@ e o @

I9GFA ACARN FY GgHT oA T 7T Wt 7 3/ a3y :

WA ‘GRE §F UeE feT H & 4 {2

1. faeefr

2. dcaH

3. ded

4, ST

Correct Answer :-

. facef

21) Rod qu-ige aut # g e # WFQA F vF T3 GG AT T FTA-SN-IS-ABR-TEH 7T FaA AT AR dF NAT A ¥ A 3R 4RT F N W A H

3ueret § 3R 3@ o 3T HRA A ‘orEr WEpha derenr @ &w A e g B I 39w oft g, sW el Adi-gren-anr st e € SR wRe |9 (G o)
#1 ot oft 93 aEl A §F TT ¥I W BT [ A @R, qgoq oWt #% A9 A §I vF FEW A o @ A aw A Gl qEew I@ waa: Rl F QAT s
T @ g Py qeew & Y¥e 95 ¥ F @ FHA-X-FA goa-g¢ @ AT @ 95 §) 7 wE awhT F 75 w7 5E@R anh aF wa Aleg @, afee st § 7%
e 77 ds & W-aX & F91g T a1 W@ F

YFT AR F TGH AN T T WA FT IR q@TY ¢

9ee: SSell HEl HT Ul 82



1. uffrel oRa
2. gfaroT HR
3. qdf 9Rd
4. 3T AR

Correct Answer :-

. QT 9Ra

22) Rod gu-ige aut # s e f WTFQA F vF T3 qqAT AT ¥ STA-N-II-ABR-TEH 3T Fad AT IR a7 AT A ¥ AW ORT F N W aww A
3UeeY § 3R 3T o 3W HRA A erEr WEpha dereer QU G A b g B 79 9w oft g, 3w s Adi-gren-anr waw e & SR wRe |9 (G $er)

1 e oft 93 wEl A T 791 ¥| W ‘ORE §F' A TR, qgew oWt 735 A9 o §) vF FEE A o @ A aw A aweler qEew I@ wad: Rl F R e

e @ g ey qeew & Yo d8 W F @ FHA-X-FA gea-g¢ W R @ 95 §) 70 wE TR F 75 TuehT 5E@R nh a6 Aleg @, afe s § 5%

a7 Jst ¥ W-w & F91g T o1 /@ F

3YFT AR F TGH AT T T WA T I q@rY ¢

wooT: FANY fFW WEFTa A qu-Uge aui # 31 IRade T §2

1. 503 ¥ P FAET

2. ¥l

3. gqH T

4. Glel-Ulel

Correct Answer :-

23) Rod qu-UgE a9 # FAN WU A FEFA A UF 9371 qqAd HAT §1 SSCA-SIHT-IST-HIN-TEA I FIA GA0T ARG A AT AT §1 T I ARG F ot W A A
3ueey § 3 3T o 3aX aRA A ‘erar WEpha dweer Q¥ wr A o g B 39 a9 @l oft g, s sl Adi-gren-amr v e & SR wRe |3 (G o)

#1 o oft 93 Ul # GF o1 ¥ 3 BRE §F A R, q3ed A 7§ AN wfAS §| F FE@W A Fo @ @ g% AT GOwedlS qEew 3w wad: el F Qe seeE

e @ g Beew qeew & Y d8 W F A FHA-A-FA geo-g3 W IR @ g5 §) 76 e awh F 75 TUehT v R nh aF 0 Aleg @, Al e § 7%

AeRa ¥ A F R-oW F F91F TS o W

IUGFA ACARN F GgHT AT RT 7T W 7 3/ qa3y :

weaT: WEpfar w1 Wiy fade gem?

L gH+pla

2. AT+l

3. FAT+PHIA
4. AP

Correct Answer :-

24) Rod gu-ige aut # g e F WFA F F T3 GG AT T FTA-SN-IS-ABR-TEH 3T FaA AT AR dF AT A ¥ T 3R 4RT F o W s H
3ueey § 3R 3T o 3T HRA A ‘orEr WEpha derenEr QU &w A ey g B I 39w oft €, sW el Ad-gren-anr smaw e € IR wRe |9 (G o)

F1 ot it 93 el A §F TT ¥I W BT {3’ A TR, qgoq oW w3 A9 A §) wF I A Fo @ A aw WA Gl qEew Iw G Rl F QT s

et W g Feew qEew ¥ ¥ 98 w9 F O FAX-FH Tea-g3 weht oRfT @ 9F ¥ s A AwRT F FF Tuehy gER Inh o o Alg o, afe arfew ¥ w5

e ¥ At & - & T T o W

IYFT AR F TGHF AT T 1T WA FT IR q@15Y ¢

weat: ‘g fere #1 ad R # = eem?

1. a0 e

2.8 fee

3. 8 fAee

4, 7% fAde

Correct Answer :-

. a e



25) Rod gu-Uge a9 # AN WU A FEFA A UF 9371 qqAd HAT §1 SSN-SIHI-IST-HIH-TEH W FIA GA0T ARG dF WA AT §1 T I ARG F ot W aww A
3ueet § 3 3@ o 3UX ARA Y ‘erEr WPl derer Q¥ & A o g B 9 a9 @ oft g, sw el Adi-gre-anr wuw e € SR wRe |8 (G $er)

#1 T oft 93 ol # GF o1 ¥ 3 BRE §F A R, q3ed KA 7§ N afAST §| vF FEwW A Fo § @ gF DG GwedlS JEew 3w waa: el F Qe s

e @ g Beew qeew & Y 98 W F A FHA-A-FA geo-g3 W IR @ g §) 76 e awh F F5 TUehT 5 R nh aF 0 Aleg @, Al R § 7%

e & aSh & e-a # SE s o @ )

SULFT AT F TeH AT T T geT FT W FAY ¢

oo e & @ Fia-ar g@or AR suee Adt 2

1. 38HA

2. |

3. 31T

4, @

Correct Answer :-

26) Mo qU-UgE a9 A FAN AU A FEFA A UF 9371 9GAT AT §1 SSA-SIHI-IST-HIN-THA 7 FIA AT AR T WA A 1 T I 4R F ot W A A
3ucet § 3 3T o IOX aRA A ‘orar WEpha deeEr Q¥ & A o g 1 I a9 ¥ oft &, I sy Adi-gren-amr wmvw e & IR wRe | (FiE o)

#1 o oft 93 U4l A A o1 ¥ 3H GRE §F A TN, q3ed oA F5 A WA | F FAW A Fo @ A1 gF AT AT [gew 39 wwad: el F Qv e

g W ‘g Aerew qgew & Y §9g W ¥ @ FHA-A-FA aeo-g3 W R @ 95 §) 50 wE P F 7§ Ty @R nh a5 0 Aleg @, Al arefew § 7%

AT & Jft  W-aX & serg qaa o W@ E

IUGFA ACIIN FY GgHT oA RT 7Tyt T 3/ qa=y ¢

e 3 ARAT T §7?

1. haol GTT

2. gl ared

3. gl T

4, 3RI6 Tl
Correct Answer :-

o 3WF ot

27) Rod qu-ige aut # s e f GFQA A vF 737 9qaT AT ¥ SSA-SN-IS-ABR-TEH 3T Fad AT AR a7 AT A ¥ A W ART F N W aww A
3ueey § 3R 3T df 3T ARA A erEr WPl derer QU v A o g Bl 7 9w oft g, sw s Adi-gren-anr maw e & SR wRe |9 (G $e)

#1 o oft 93 wEd A A 71 ¥1 W ‘BT [’ A @R, qzew ot F% i A §) vF FEW A o @ A aw A aweler qEew I@ waa: Rt F QAT e

7 W) g eew qeew & YT 98 w9 F O FA-A-FH Tea-gg @t oRRT @ 9F ¥ S A AR F 7 Ty 9ER Inh o o Alg o, afe e & w8

e 77 dst ¥ W-aX & F91g T4 1 W@ F

3YFT AR F TGH AT T T WA FT IR q@TY ¢

geaT: AT &1 RAAw o a1 ghem?

1. 3Telifeha

2. 3TET

3. 3 8H

4. AT

Correct Answer :-

28) Rod qU-UgE a9 # FAN AU A FEFA A UF 9371 9qAT AT §| SSA-SIHI-IST-HIN-THA 379 FIA AT AR T WA 7T §1 T 3 R & ot g e 7

3ucet § 3 3T o IOX aRA A ‘orar WEphA dweEr Q¥ & A o gH 1 3@ a9 ¥ oft @, I sl Adi-grer-amr wmuw e & SN wRe | (FiE o)
#1 gaa oft 93 U A @A o1 ¥ 3 GRC §F A TR, 3o oA F5 A WA | F FAW A Fo @ A1 qF AT GRS q[gew 39 wwad: el F Qv s
ad @ g Berew qeew & ¥ §g W ¥ A FHA-A-FA geo-g3 W R @ 9 §) 50 wE TR F 7§ Ty R nh a5 0 Aleg @, Al arefew § 7%
RAfa & asft  W-aX & g qa o1 W@ E

I9LFA AN F GgHT oA RT 7Tyt 7 3/ qazy :
WA: AT A TGH aF AMC R g B om@r weply e g A §7



1. STaTe
2. 31T

3. UTTRETe
4. RRegear=

Correct Answer :-

29) Rod gu-uge auf # AN WoUE A FEFA A UF 9371 qqAE AT ¥ SSA-SAT-TBT-HIR-TEH W FIA GIAOT ARG dF ARG AT ¥l F IW 4RA F oM WA A
3ueey § 3R 3T o 3W ARA A erEr WEpla derer Q¥ & A b g Bl 9 a9 w1 oft g, sw e Adi-gren-anr waE e & IR wRe |9 (G $er)

1 9o oft 93 wEl A T 791 ¥| W ‘ORE §F' A @R, qgew oWt w35 A9 o §) vF FEW A o @ A aw A ageler qEew I@ wad: Rl F R e

e @ g ey qeew & Yo d98 W F @ FHA-A-FA gea-g¢ W AT @ 5 §) 7 wE awhT F 75 w7 5E@R nh a6 Aleg @, afee s § 5%

e 77 Jst ¥ W-w & F91g T 1 W@ F

3YFT AR F TGH AT T T WA FT W q@rBY ¢

WA TF FA H T A1 horl $© e ak & dfda ar?

1. o=y

2. IS Jgod

3. Bl

4, 39T

Correct Answer :-

- PR g & e B R
T A T,

ar & g,
FTIAR-EAR Wl H AT F7 o7 e

FHA FT §?
It go A § T
afeat & areht #1 Ig § 9%
e1at & Tuh fY ARAr

sfi-wrel-eeh A &7 ot et ¥

TR § qI 1 o &

Rwrer gam w=rT ¥ g A AET

3UGFA YSHIA B GgHT AN BT 7T oo FT I I
yeeT: RO & AT arel Fler Gorar Farar 82

1. Bl

2. wa

3. 9mT

4. A=t

Correct Answer :-

. afear

Topic:- General Sanskrit(L2GS)



1)

TR<te gfdcar veaeg QAG@C\‘IQ qaad -

Hrolarn: Uiaafd: ARRYr el fdagdadt dRar 3eld | dRIserer:
TN AH hE AAUd o EGH R | IEeAAAH  HATEN:
AT FE: A | FERTAT oAl TaRY  Hisd  gAd
FAIAIHAHATT Acadl, 30 | 3T HRRT F-cdiehd RIS
9g AfvedA, fheqg A& CHIVAA- “F H§ UIOT Jocdl 3T AH
ARSI 3Fes: SIEATA” | el adTdT AR sl Tehaor
oA | TeT: Al IEURUERTT veRidded: Wed 3@elame aligar
AT fdemen, AAAIIGIURT: FHeAGT T A | Hold: IFHEAAT:
AER: dEMAH  3ielsfed, SHdIgIed  3Meeid: E&RIcAlpd: | Al
qadvGesl  ATheT o&A:  Fafolaed Ieal | FAgcddId HSeld,
HEcdH @SCH SAdd YHNUT HSCUFINI: UNewr:, fdgfdurerd sarioray
U 319 srEEarh: svedifad: e 3efeaaAET ar o d: aRgdr
| TAT $fIoT: Hame: FAS | 9F 3ol il e ar w@a
FoAeh: WeN: efdafdefar dierid wiear | AT E&AAE Hid: I |
TFEaH AT IRISeEET: 3 AT g I-TaTdesd-GaTHEY
THEAATAIREIOT G STot: 3T, TAAA |

FSCUFIT SIET fdargardud ¢ siafa-
1 b

, hedid FETl

, ¢ 3 I

, SCTAT I

Correct Answer :-
. HECTAT I{FT]



Yoliehl ufScar IrfAfEsesy veeTed YgdHcal Faad -

HATGTGCATATd FAGHTSTT TogeT: |
HATCrgR AT FHcguaid J=aa: |

FaUHA IRIST ATHG ROT Fof |
376 a1 qIUIeD AEIRASWH AT ¢ |

Tl RIS dhacl AT eROT I -



URTBE UfScar Uy AGHc Fadd -

e de: AEA | Agd A0 Gellfd Uded | UIA: 36 EEIE
feaufd, Tasieaea 9 wenfd Afeasafd | 9 §d arem: arfelen: T
drea Rl AT ST T 3G IO | TF AT JTHBA
dﬂmmlmawqm:|£€H%wmaﬁammﬁq‘aﬁg
g1 AT 8 OafA |

a9l T TedeTel (3F%e) 3eT ITOE: | T g AU Tedier
HaTATH: |

gaT el 9IH SOl SHgellhelllel T TeAW: die T9aT Tt difel
TEA: | Jedwellel, eahental 376l T AgT Uded |

A HIA: T AW FHied o ANUNH 3deq fdeafed | #F I Sowar:
meﬁﬁmammwﬁmm|

¥ AH GO MRS Fled d  HLYOT @ornor,  arfsAra,
CIETTthellfel < SfeTafed | IeT € Wellld o fdeqrf®@ der 37§ &3y e
T ATl SRS (TRS)  TH SRGEANA | 5 FAIOT Hellfad

A N N
Hed ded |

STell: STfelehl: T IFSH Kl TANT BoAIH 3T TS iod-
aq-araﬁm

ITH-STFIHAATH

SA-TATD ATATH

e oll-3THB ITeATH

4.

Correct Answer :-

HTH-STFolleATH,

Y T gerT wIRYeH ¢ ATfed-

-



5)

UR<oe 9focar uea+d Qgﬁagcdi gaad -

grolarn: iaefd: ARRY oedl fdugadr dRar 3md | g
T AH HET AfAud 7 IEGH A | A HATER:
ARAT: & HAEA | FHERTEAT  o&HAl  TARY Ficd  gHY
FAAIEAHET Acad, 3 | 38T HRST FR-icleh RIS
9¢ Afeddn, fhed @&AT 3CEIVIAE- “F 3§ WU Jecdl AT AA
HERIGT 3Fesd: ST | el ddaTdr SHAGaaR s/l ThavT
$odH | e VA AEURUERAT Yefidded: Wod @eAe afgar
T fdemen, AfAFTIGIURT: FhHedar T A | Hold: IFHEIAT:
AgR: dNEIaH,  3Telefed, SAEIGIed  3MPeiRdl: FERIcipd: | Al
JadavGes e T&An: Aol alsd el | FAgcdld HSeld,
HgcdH ®SCH Scdd YhRUT HSCUFINT: URewr:, fdgidureid sarieray
T AU 3WEah: Mvedifas: fAlraid EIFTAET O JF o IRl
| T $fIoT: Hane: WA | dF e qdfawE Fger @1 w&d
FoAeh: WEN: &Tdfdefar dIerid wiear | A EEIHAE Hid: 3 |
Jeudd 3T dRSIEEn 3En AF A d-Haldesd-HarH

THAGUATAIRIRITT 5 Sol: 3] THA |
dRTSaTeT 3T fasiar oo

| FFarers

, SieTeTs



Correct Answer :-

. eSS

TRTIC ISl TRATT YGH I -

HE del: HARA | AL WAMOl Hellfd Yded | TId: 3§ TR
eauf®, e T wara sifcasa®@ | g @ a1 Sifoer: @
A Fdl AT ST T IS TToE: | dF ALY JTEhe
Sl  WeH: | 3% o & ThA H &d a1 HE FefA AT g
gl AT W A |

a¥dl 97 TSIl (37H%S) 3T ITOH: | dF IT HLRMUT TEslollied
HETATH: |

JaT el 9T ISINIUT Heellthelllel T UIHA: dfe faem wardsT drfer
TIGH: | deUhdliad, fAFahdel el T #gd Uded |

AH A F AETR Jded T ARGMUNH 3o fdecled | #F ¥ dleddrn:
meﬁ d W&T FATRehelhelllel Wi SToled |

T HA m—cﬁm MeaRseel adfed o #Fufor @oion, eifzanf,
aawﬁaﬂmﬁlaa%mﬁaﬁwﬁaa%aﬁgw
T TS ST (TES]) T T AN H | 3o FAfor Hellfed

LN Y
Hed ded |

;rng't vd gafea-
. #7F [Tt
N ﬂﬂﬂ?—ﬁ:
3 HHA HIAL:
. HHA ATdL:

Correct Answer :-
HH HATdL:



URTBE UfScar Uy AGHc Fadd -

e de: AEA | Agd A0 Gellfd Uded | UIA: 36 EEIE
feaufd, Tasieaea 9 wenfd Afeasafd | 9 §d arem: arfelen: T
drea Rl AT ST T 3G IO | TF AT JTHBA
dﬂmmlmawqm:|£€H%wmaﬁammﬁq‘aﬁg
g1 AT 8 OafA |

a9l T TedeTel (3F%e) 3eT ITOE: | T g AU Tedier
HaTATH: |

gaT el 9IH SOl SHgellhelllel T TeAW: die T9aT Tt difel
TEA: | Jedwellel, eahental 376l T AgT Uded |

A HIA: T AW FHied o ANUNH 3deq fdeafed | #F I Sowar:
meﬁﬁmammwﬁmm|

¥ AH GO MRS Fled d  HLYOT @ornor,  arfsAra,
CIETTthellfel < SfeTafed | IeT € Wellld o fdeqrf®@ der 37§ &3y e
T ATl SRS (TRS)  TH SRGEANA | 5 FAIOT Hellfad

AN N
Hed ded |

. A, Rt AR P
, agagel

, IMeuTTseet

, ALV

, Scawscet

Correct Answer :-

| MR eT

® e somafaenfEIomAfauRr sTaET Sl
3TEd-
foh. 9. UOH USSeIdchd

1. o ~

. o gmaH wSoradH



fop. o IJ IsTARTHA
3.

for. 9. ad?l UsaHAdRH
4, ™ 2 -

Correct Answer :-

foh. 0. usuH ysoUdRHA

Rellhl gfScar TenfAfesesd veaey AgdHccl Jadd -

hich 3TEddcl Il ATl o  ITahle |
PIPATTRATTEY g Plhl o ITdHh: ||

FIh: FOUT: TUeh: FoUT: HI #G: Uahepraar: |
dHeddlel FUTCd hleh: hlch: Oh: A ||

ATeh: Ul o 3Eadd -



UR<oe 9fecar ueasg Qgﬁagcdi gaad -

roddar: yiaAfc: AfRYr g fdagadt dRar sm | dRgerE:
qE A wEd Hfaud F EeH T | el e
W:W:MIWW&Tﬁ'WﬁTmm
FAIAHAATT Adcdd, IR | HE: RS T&-cdlehd RIS
9¢ dfSedd, fheq @&l 3CUIVIAAM- “d 3§ UV Jdcdl 3T AA
ARG 3Mecisd: A" | ETeIdaaT AHIGATAR sTaATeddh JHTHHATI
FaH | UeT: Hldr: HATURCERAT Ygfidded: Wed @A arigal
3T fqeren, MAFAIIGIIRO: GHeadqr I AW | Beld: IFHEAT:
AER: dRAfAH,  3Telefed, STEGIRT  3Meeid: TR | oATeT
qadaveed  Afdhed o&Al: Jafolaed el | Hgcddld  ®Seld
HecH ®5CH SAd YHNOT HSCUFIN: UNRewn:, fagfdureia sarfery
TS AT IEIE: JToRifAh: TR, AR A1 a7 o aRgdr
| T SfiNOT: FaE: AHGE | T P qdfAee Heca a1 wd
3elsh: UEN: &TATdeTdr dRerfd 9rear | @7 EEIEACET #id: 3 |
AEaA, A AUSIERT FEm AW UReI-EaTdesd-HaTHed
THEAATAIRIRUTT F5E Sfoi: 3P FTHA |

aeHaTs el 3da-




TRTde fScar 9eaed AgHc] I -

HE de: ATEA | Agd A0 ®enfd Uded | UId: 3§ FEIE
FEata, T@eiea ™ I Wellla 3feasaf®d | g §d dem: difeer: T
AreA Fdl AT ST T ST TS | TF FEROT ITEBATT
SEhelllel T WGH: | 37§ o f§ ThA IH gd o1 IE T@efA T g
gl AT T A |

a¥dl a7 Tedlolel (31#%e) 3eAE IToH: | T a3 HYUr Taalolst
HETATH: |

IaT dal guH 3SIRIUT Feellhellld T UIH: dfe delT YA dlfel
WEHT: | Selhelel, [AFawanfa 3eferfa o #ed Aded |

AH AIAC A AR FHied d ARIUNH 3o fdegiod | #H I Slowar:
WWW?WM@WW|

¥ HA GO AEURYSY afied o HERNUT Tolul, GrisAr,
TGl T e | AT G Bl o fdeartar dar 31§ &Y rear
T CRESSTAT GUSIlAT (TIST) T TH HARANA | 5o FoT Berfel
;eI et |

FIRY 3cg7 o faerfda: -

. AT

Correct Answer :-

*? TGAITT FACTH Tt 3T Foiete, 3ed-
NI AYS:

1, 2

AT AN

3.



AT 3TRAEATI AT HAH

4

Correct Answer :-

AT AR HAH

eelleht fScar renfAfesesy weaey YgdHccl Fadd -

hich 3TETAcl Il ATdhl o o ITAhIeT |
HIHATARIIHET d Sl o7 ATTH: |

chleh: HOUT: TUeh: HSUT: I ig: [Ueheprendl: |
qHodHlel HFITC &hleh: Hieh: Ueh: Ueh: |l

FIhfasmarefe: AT Frer AT -




15)

gollent gfocar sreanfafésesr ueTey &{_,l;gagrdi qAad -

HATGIETETU HAGHTSIT Togal: |
AT gRaIed Fegehafd gsaa: ||

oA IRcIsT AAG WOT a7 |
37€ odT AJUIEIT AEIRAAH AT o |



IS IfScar JeaTe T YEHcR I -

goelarn: gfaafd: AR aadlr agad drar smihd | e
TEIT. AW HE AAud d IEGH T | Neecli A e
RAMAT:  TEA: AW | FAERTAT  W&HI  TARY  HiSd I
FAIA-THAATT Adedd 3R | 3ET: HERGT Ecdlehd RTsd:
9¢ AfScad, foheg T&AT ICEIYITAN- “H 3§ WIUN, IFedl 3T AH
ARSI 3FesT: SIEATa” | el adTdr SR s/l Tehaor
P | T AP FEURVERAT Jefdidded: Wed et arfgeT
T fqerer, AAITIGIURO: FHeaAaT T WG | Bold: IFHEIAT:
AEN: dNEIAH  Jielefed, SAEIGIeT  3Meeid: EERIcpd: | oA
qadaveeNs] Afahed gl Jafolaled Wtdl | #Ageddd $seld
HEcdH ®SCH SAdd YHROT HSCUFIN: UNewr:, fdgfdurerd sariory
TS 3T 3EEarsh: Jverdifds: fatead SeegaET & a7 o aRgdr
| T ST Hame: @A | 9T 3 i e ar @
3elsh: UEN: &TdideTdr dRerfd rear | 6@ EEIHAGE Aid: 3 |
A, A AIERm e d URe-EaTdesd-HarHEed
THEATAIAIEIUT HE Siot: 3T, TAAA |

“oITg YTOTI cIefeal AT AA SHRIGITH Ao d: Gregia” sfa sream:



eellehl gfScar Tenfafeeesd eaey AgdHccl Fadd -

FATGIGIETT HAGHSTA doGHAT: |
HATCrGRATIART FHguald g=ga: ||

FAUATA IRcIT AHS ROT T |
376 ol FAUIeAT FETREASATH AT T ||

“OReaea” 3fd ugeg oI 3ifRed -



URTBE UfScdl YA AGHH FIadd -

HE de: ATEA | Agd A0 Gelifd Vded | UId: 3§ FEIEA
eauf@, TEsiee 9 $enta 3ifcasa®@ | g @ qren: Sifeler: O
A Fal AT AT T IIEA TToE: | dF AR 3BT
o1+«;|\thonﬁﬁig|c.m:|£€H%Wmaﬁmmmﬁaﬁrg
gl AT T A |

a¥dl @ TedeTl (31#%e) 3eh ABE: | aF aF FYUT Tedtente
HETATH: |

TGT Hal IIA ST FHgellhelllel T TAHA: dfe fdar Tt difel
e | edmarte, Heawenta sfeferfa T #d ded |

AH A1 A AR FHied d ARUNH 3o fdegiod | A7 I Sloear:
WWW?WW@WW|

¥ FA G MRS Fhfed d ALRfOT @epfor,  arfsaAfa,
aamﬁaamﬁlwagwﬁaﬁﬂﬁaﬁr%aﬁgw
T TS RIS (TS)  TH SRGEANH | 5 FAI0T Hellfed

AN Y
Hed ded |

HAGACH $cTF TART: ITHATEA-



, hrETafd:
aogﬁan
4,

Correct Answer :-

. %?ITQ?\.QT:

) .
Yoliehl afScar IeNfATESerd veeted AgdHccl Faad -

20

FATCIGTETT HAGHSTA ToGHAT: |
HATCrgRalfased Foguhafd goaa: ||

FaUHA IRcIST ATHG ROT ToT |
376 cdT qIuIed AIRATH A7 ¢ |

TAEAT #ToTd Tog AT -

R CIG|
1. =2 -

2. D =
3 .~

21) ﬁm I 3ITEd-
; o
) o
JeCIsdlecdH
3

gHdatedr

4 DO

Correct Answer :-



22)
ooliehl afScar INfATEserd ueaed Ygeccl Faad -
hTch JTETAT Ihlel, ATl o T ATeIehle] |
PR ATARATHE T Flhl o ATdSd: |
Fh: FoUT: fUeh: FUT: FI #HG: Al |
dHeddlel HFUTCd hlch: hich: [Och: TOdh: ||
FIhdRdl: JoT: e -
QrFol:
e |
1.
9dd:
2.

23)

Correct Answer :-



24) . .
TR=oe gfdcar yeasy YEHAH FIId -

rotdrar: giaAfd: AfRYr AT fqaeadt dar s | RS
TN AH HEd AfAud 7 3eeH AT | e e
ARAT:  F&a: A | FAERIAl S&AT TARY Hiod @AY
FATAAHAAET Adcdd 3ehlId | 3T FRIGT Facciiche arsd:
§¢ diSead, foheg TEAT ICEIVITAE- ‘F 3§ VN, kear T AA
HERST 3EesT: SRATA” | I gdTaT AR sl JThavT
$ad | T Vi HETURUERAT Veildded: Wed 3feeiars arigel
T faemer, fAATIGITRON: FHeAGT T AT | Bold: TEEIAT:
JER: dREIMAH J7elsfed, SHidigIed  3Mieeid: F&Icipd: | S
qadravcesl Afdehea o&dA: afadWed el | #gcddld ®seld
HgcaH H5CH Scdd YHRUT HSCUFWN: URedr:, fdgidureid sarferay
TS 3T srEars: sverifalsh: folea’e IEaaAET & a5 o aRgdr
| T sfoT: Hae: @ASIT | 99 3 edfaee, gy ar @
3elsh: UEI: &TATdeTdr e WIoar | 6 EQIAARE #Afd: 3 |
AFIaH, A9 IREIEEn A ATH SEd-EdTdesd-Garaed
THTUATIIRIEITT GG STot: 310%hc THA |

IR: 3fd ugra gAATIRuGiAGHATET-



eellehl gfScar Tenfafeeesd eaey AgdHccl Fadd -

hich 3TEddc] hIehl=] ATl o J ITdhle |
HIHATTRATHEY Gl Skl T Iraeh: |

FIeh: FOUT: TUeh: FOUT: HI #G: TUehepraal: |
dedhlel FUTCA hleh: ohleh: TOoh: fOeh: ||

FIhATRIIHCY ai UY:-

1 3sfa
, I

3. AT<[h:

, s o

Correct Answer :-

Yol TfSear JefAfisesy ueaed AgHcl qaad -

26)

HATGIEIETTd HAGHTST Togal: |
e geaaaed Foguiafd geaa: ||

HauH IRcIST AAG ROT o7 |
376 cdT AIuIed AEIRASAA AT e |
3T A TAET: AeTIsanfd -

uég:@azr:
1.

, AP
3 IUTIe:



ERCEERIE
4.
Correct Answer :-

) IUTIe:

) $79TaTe] HED H&gcmﬁ Jaadfa ?

ﬁl?lTa:gFﬂﬁ
1.

) TrlmTa:gFalﬁ
eTHTS T AT

N 3
4 3TerFATSG Tl
Correct Answer i
. 3TerFATSG Tl
) YA $TAH ICIRICTATED-
AT
, @us

, T
g

4. o

1.

Correct Answer :-

Correct Answer :-



ecllehl fScar renfAfesesy weaey AgHcal FaId -

Tk TTETAcT HIchle] ARl T J ITAhIeT |
HIHATIRATHEY G Hhl o ITech: |

W:W:ﬁﬁ:w:ﬁ%:w:l
JYodohlel TFUTCT Feh: Flh: Uah: U ||

‘B’ STd UGET GAIUGH AHTEd -

Topic:- Social Science (SSC)

1) FDI stands for i 'Q"fb_é&&ﬂé, mlﬁl’ q %l
1. Financial Development Institution / m EECIE é?—ﬂ'&‘:{‘\’l?f
2. Financing Data Initiative / BIST29T 3T sfafufed

3. Foreign Direct Investment / IR ST8YFC SATCIHT
4. Forex Directorate Institution / PIRGT STEIFERT 3'{732\7{‘\’]?[

Correct Answer :-

« Foreign Direct Investment / ThiXeT STEIC SATCIHT

2) Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback causes you to think and engage, which is reflective
learning’? /

fram w1 1%, ‘s, T yaATas lafhar s &ar @ W a1 @ AHRIAS 91 THRIAS g1 Godl 3 | ufagfd (Blsa®) smust
T 3R 30w v ¥ gl s @, oY Riae=ita Riar 212

1. Dylan Wiliam / 31releT fafermeT
2. Paul Black / OTel qelh
3. Charles Beard / iﬂﬁ'&r IERE)



4. Miller / feX

Correct Answer :-

« Dylan Wiliam / 3ol faferaar

3) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / o Wufae we= sifufaaw # HdgH 1 31 21
q geTar 18 a8 Y 1S 2

1. 61t /617
2.62M /627
3. 66 / 669
4, 6410 / 649

Correct Answer :-

. 615t /619

4) Which among the following are key faunal species that is being conserved and monitored in ‘Dachigam National Park’? / ﬁfﬂﬁ@ﬁ' ﬁ' '\ﬁ' ?ﬁq

vy uyy yenfoat €, e e e e # wRaror s Frteror s s ve 32
1. Golden Oriole / 3MeseT 31RTer

2. Hangul or Kashmir Stag / %?lﬂ 7 HLART x0T

3. Yellow-throated Marten / fIeRTe

4. Musk Deer / HEQY fodel

Correct Answer :-

» Hangul or Kashmir Stag / %?lﬂ T HIFARY %TUT

5) Which Commission recommended that appointments of Governors should be strictly non-partisan? / fra smanT A Rywifyy #Y & wrsaurat
P fgfaaal & gt ¥ vemrdt 98 1 fge?

1. Malimath / #TforsTs
2. Thakkar / depehT
3. Sarkaria / TLERTIRAT

4. Punchhi / &1

Correct Answer :-

« Sarkaria / GTRIRAT

6) Which school of philosophy propagated Project method of teaching? / R & 9 faemem 3 Rreor &t e Ugfd &1 vaR fear
1. Naturalism / Gepflang

2. Pragmatism/ <IdgRdIq

3. Constructivism / {deTdlg

4. Existentialism / 3{Tedcaadrg

Correct Answer :-

« Pragmatism/ cJdgRdIq



7)  Match List-I with List-IT and select the correct answer using the code given below the Lists:

List-I(Text) List-II{Author)
A Kitab-al Hind 1.Ibn Battuta
B_Rihla 2_Al-Biruni

C_ Humavun Nama | 3 Lahori
D Badshah Nama | 4.Gulbadan Begum

Y- 11 3 AT =i 1 &t et . 3R Rt &+ o a1 &1 &1 3921er :3as J61 e
ﬂﬁ:

HAI(EaT) T -11(erEeh)
A Tohare-31e fgeg | 1. Soet agar
B. Rgar 2. 3a-f&wer
C.g"H'I?‘I:EITHT 3. eeiT

D. STeEIg =I1AT 4. TaCH JIH

1. A-3,B-4,C-1,D-2
2. A-3,B-1,C-4,D-2
3. A-2,B-4,C-1,D-3
4. A-2,B-1,C-4,D-3
Correct Answer :-

« A-2,B-1,C-4,D-3

8) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the planet and ensure peace and prosperity. ‘Climate
Action plan’ of SDG is in which goal among 17 goals? / “ddd fopr wea’ T ' gHE A 3R g Bt &, wifa ok WH@ 'ﬁﬁﬁl’d AP ﬁ'ﬂ!
i B GieET 81 THSieh o1 'Saarg B GieEr 17 984 § ¥ S99 91 989 82

1. Goal 17 /18T 17

2. Goal 13/e1&T 13

3. Goal 11 /18T 11

4.Goal 1 /918 1

Correct Answer :-

e Goal 13/41&T 13

9) The primary source of data is: / ST &1 TP Wi &:
1. Biographies / SMcHABATT (STIITH)

2. Bibliographies/ &cIeh Hﬁ'&T (Rraferaramdn)

3. Commentaries and treatises / SeT-feTaforar 3R 3mer@
4. Proclamations / ETYUTIT

Correct Answer :-

« Proclamations / EYYOTTT

10) The Andaman and Nicobar Islands are submerged parts of the mountain range called ./ SisHE Gﬁ? AR ﬁ'ﬂ' qaqe

Tdd §@dT & FaHT HIT # |
1. Arakan Yoma / 3IRTehTel 1T
2. Askai Chin / 3/G®TS R

3. Pegu Yoma / ﬁTLIﬁ'eFIT



4. Tien Shan / f3T AT

Correct Answer :-

+ Arakan Yoma / 3RThIT AT

11) What is not true about the art and architecture of temples of Khajuraho? / @sRiet & #AfR} #r war 3k awegear & Rww & F41 wew adt 82
1. Khajuraho temples contain erotic art inside the temple. / @[Tl #E 3 AR F X FHAF Fell HealaT &

2. Temples were made of sandstone. / #fET TI3M Te2R & &= |

3. It was built in Nagara style of architecture. / 38 areqear @1 Famsr At F aefrar /27 U7

4. The columns and architraves were built with megaliths. / Ty GﬁT W Y CRILRILY g

Correct Answer :-

« Khajuraho temples contain erotic art inside the temple. / TR #HfeRT # AR F e FAHD Fell FeddE B

12) Which of the following site is famous for stupas, monasteries, temples and pillars? / @@ & ¥ #la a1 Toa Fqu 76!, AR ik w0 &
T ufdgy ¥?

1. Khajuraho / @s[trel
2. Ujjain 7 3=

3. Vidisha / fafgem

4. Sanchi / @

Correct Answer :-

« Sanchi / @t

13) The author of famous Gita Govinda, Jayadeva was court poet of: / 9y “fiq Mfde” ¥ d@®, T98T 3¢ @it FiF &
1. Lakshman Sena of Bengal / @anel & @&#0T ¥F

2. Prithviraj Chauhan / gedirst dte=

3. Gopala / Jfurer

4. Harsha / &

Correct Answer :-

+ Lakshman Sena of Bengal / &oTel & @I&#oT o

14) Article 356 of the Constitution is related to the imposition of rule in the state. / WTIYTe HT 3@%’& 356 FREY TSI MM
AN FA & WA B
1. President’s / Irguﬁ

2. Chief Minister’s / Qi'@ﬂiﬁ

3. Prime Minister’s / TSI
4. Governor’s / TTagUTel

Correct Answer :-

« President’s / TgUfcl

15) What is the percentage share of agriculture in GDP during 2013— 142 / 2013-14 & &Rret, St ¥ a‘fﬁ' &1 yfoera Rear a2

1. 15.9%



2.13.9%
3.10.9%
4.20.9%

Correct Answer :-

. 13.9%

16) RBI is considered as the lender of last resort for ./ ARAMEHR & v anf@d seterar A smar g
1. The cooperative banks / TR St

2. The Regional Rural Banks / 8731 ImafoT &t

3. The commercial banks / aIfOfSTeH Sept

4. The Government / GXPIX

Correct Answer :-

« The commercial banks / aTfoIfeTe® Sht

17) In which language was Rajtarangini written by Kalhan? / SegoT o JsTaR F91oft fahy smar & forgY &2

1. Prakrit / UTpcd
2. Devnagari / Sa=TTaT

3. Sanskrit / HEPd
4, Pali / 9Tell

Correct Answer :-

« Sanskrit / TEPHT

18) In which year the NEP was introduced? / Tai$dY gy a¥ & qw Frarg oA
1. 1991
2. 1992
3. 1990

4. 1993

Correct Answer :-

e 1991

19) Who among the following did not belong to the group of ‘Moderates’ in the formative phase of the Indian National Congress? /

farafaf@a & @ sl s oda FRw F TRl wor F TrEafEd & g @ defta adt 9
1. Gopal Krishna Gokhale / 31TdTet G CIIRCE]

2. Dada Bhai Naoroji / &T&T HI§ FRISiT

3. Bal Gangadhar Tilak / SITel J19TI¢R faereh

4. Surendra Nath Banerjee / 1‘1’1‘;\" ATY FeAoit

Correct Answer :-

« Bal Gangadhar Tilak / STel IR foeleh



Who is a person who holds an office, not because he/she is elected to that post, but by virtue of the fact that he/she holds another office called
as? / € Fi AT ¢ SN U FIATT 7 F14 FIAT ¢, ST 781 & T8 39 98 & v o o &, afew 50 a2 & R = ¥ 98 w3 3
ey & 1 Fa1 g, o Fg &

1. Ex-officio / Ul

2. Claimant / GIAGR

3. Ex - Ante / TpE-TC
4, Stakeholder / fodYR®

Correct Answer :-

« Ex-officio / Ugel

21) Who appoints the Advocate-General for the state? / U= & fore AgifaasFar it ﬁg‘ﬁﬂ' FiT HIATR?
1. President / ng'Clﬁ

2. Chief Minister / &I

3. Parliament / T8¢

4. Governor / ITag4Tel

Correct Answer :-

« Governor / ITsdUTel

22) A test that predicts the future performance of a student in a particular area is known as: / T& GI&70T Y faraft freiy & AFsEAF
HTasT & vgeler T ATIaroft FIT §, 38 3 T H FT AT 8

1. Diagnostic test / SigT{=e TI&ToT

2. Prognostic test / q@ﬁﬂm’r TaTor

3. Achievement test / ST GL{T&ToT

4. Paper Pencil test / TIITT UTer irafor

Correct Answer :-

» Prognostic test / q@ﬁSTITn' TIET0T

23) India after independence relied on food crop supplies from USA under the Public Law ./ e fafer OT%H'T Fﬁ') . & Iaerd
TIAAAT VIS & 1G9 Wi Baar 1 Arqfet & forw wgFa v sl w s am

1. 450

2.490

3.480

4.470

Correct Answer :-

« 480

24) among the following is an example of industries which are run with the help of family members, friends and relatives. /

TR & HY, T O 3EANT H1 3ETeR0T §, i1 TRAR & Fawa, aveet 31K Redart 1 #ag & wome s §1
1. Large and Medium scale industries / a@ \?'ﬁT IOH IR P WT

2. Capital industries / ft:ﬁ' 34T

3. Cottage industries / W g7



4. Regional industries / &1 1T

Correct Answer :-

« Cottage industries / E_ﬁé T 3T

25) The industry which produces machine tools which are, in turn, used for producing other goods for consumption purpose - / aﬁ'?ﬁ{!ﬂﬂ S
FefleT SUFHTOI FT 3TUGHA FA &, THAHT ST & 3T W HeT IATAA] FT UG T & forT 3qAT T ST @ -

1. Fiscal goods / TIE!EI?I'@?IW
2. Capital goods / qsh"rl?raﬁtr
3. Consumer goods / SUHTHT aEU

4, Perishable goods / TR ?Rﬂﬂ'

Correct Answer :-

« Capital goods / ‘ZLGﬁTJTHERﬁ'U

26) The amount of water vapor actually presents in per unit weight of air is known as: / §aT & 9fd 318 R # 3ufPya arsy At AT FHgara

&

1. Absolute Humidity / fAR08T 3m&ar
2. Saturated Air / FIT{H arg

3. Relative Humidity / GTAT&Ieh 3&aT
4. Specific humidity / fafre 3mé&am

Correct Answer :-

« Specific humidity / fafRrg 3méar

27) The Conference held in led to the establishment of Non-Aligned Movement (NAM). / # 3T FFAAT F HROT T
foRYeT 3eYere (NAM) &Y i 92|

1. Yugoslavia/ JanEenfar
2. Belgrade / Io1dis

3. Egypt/ 1@

4. Bandung/ El'lgﬁ'T

Correct Answer :-

- Bandung/ &g

28) The name of the teacher of Ajivika religious sect was: / TS AT enfer TUSTT & AT T AT AT
1. Puran Kashyap / G &hIU
2. Ajit Kshekamblin / 3/siid &ihafore

3. Sudas / gard
4. Makkhaliputra Gosala / HZF@W iR

Correct Answer :-

« Makkhaliputra Gosala / ?HTF@‘%TT:[ aneme



The method of teaching that is suitable for developing democratic attitude is: / fra7oT & fafer S ANFaIfF cRewr RFRT F & AT
3UYFA §:

1. Brainstorming method / foaR-Fg= fafy
2. Activity method / sTfafafd fafer

3. Lecture method / ZaT&aT= faf

4. Historical method / ﬁ'ﬁf{ﬂﬁﬁﬁ afe

Correct Answer :-

« Brainstorming method / fJIoR-sa= fafey

30) The evaluation that is concerned with the performance of the individual in terms of what he can do or the behavior he can demonstrate is

termed as: / I§ HEdTHhT Il SATFT & UG & HaY 7 § & 98 741 T WFAT § A7 I§ AN SAIER TGN FX Whell 8, 38 AT FgT A1 8
1. Formative evaluation / fA@ToTcae He T

2. Norm-referenced evaluation / ATHY -3THATA T Hediche

3. Summative evaluation/ T3TcHb Heichel

4. Criterion-referenced evaluation / FTAGS - HETHA HedTdhed

Correct Answer :-

« Criterion-referenced evaluation / ATAES - TETHd Hedihed

31) The proponent of basic education is: / ¥ f¥aT & AT &

1. Mahatma Gandhi / FETeHT e

2. Swami Vivekananda / EdTHT [EEEICT

3. Jiddu Krishnamurti / fSrg peoreffet
4. Rabindranath Tagore / TIgATY 29IR

Correct Answer :-
« Mahatma Gandhi / FT&TCHT I

32) Cooperative banks in India falls under the Banking Regulation Actof /W RaG A Weadlirds & ko Rftas saffaw &
3erate A §

1. 1947

2. 1950

3. 1949

4. 1948

Correct Answer :-

e 1949

33) Which committee recommended for the creation of the post of District Development Commissioner? / fSrelT s ITgF ¥ ug & AT
& fore frw afafa o ReRer i

1. M.L. Dantwala / TH.Tel.gidarel
2. Ashok Mehta / 311 FedT

3.G VK Rao /3. . &. G



4. Hanumantha Rao / ?@?IHT g

Correct Answer :-

« G VK Rao/3i. d1.&. I

34) Which of the following is a Greenhouse Gas? / i@ # @ #ia v+ MNewEw T
1. Argon/ klipie)

2. Oxygen / 3iTereTStel

3. Nitrogen / ATEEISTT

4. Carbon dioxide / &Il 313.#@133

Correct Answer :-

« Carbon dioxide / T SE3TFASS

35) Which of the following is not included in Project method? / fFIfaf@d # ¥ Fi wowe AR & anfAa 7T &2
1. Problem type / Eﬁﬂ?ﬂ‘f [ELN]

2. Projector type / Eﬂm [GEY)

3. Drill type / fgeT T30

4. Inquiry type / Wm <y

Correct Answer :-

« Inquiry type / arad) ey

36) Which of the following is not an aim of Social Science? / fAFATATRT & & F4T FATS® AT FT TH 33?’%11' AT E?
1. Developing right attitudes / T&l ?FIFﬂ?{% ICEARGETGI

2. Intelligent democratic citizenship / W AT ATITREAT

3. Building social competence / HTATTSI® WQS[J &1 fAAToT

4. Making a rich economy / Ueh HaJg HIeAqEUT ATl

Correct Answer :-

» Making a rich economy / Teh HHg 3T Seqaeyr g1

37) Which of the following is not the objective of teaching Social Science? / Aafaf@a & ¥ = gees A & QEFT 3l 3?\?\'?11' CEl %‘?
1. Social development of the child / ST &l HTATTTD TdhTH

2. Creation of leadership quality / ﬁ?—lﬁ[ &Hr J[UTIT T IGEI]

3. To prepare an ideal citizen / Teh 3TERT AVTRS IR FHAT

4. Memorization of the events / EICAT3T &l THAIOT

Correct Answer :-

+ Memorization of the events / TCATT &T TAIOT

38) Which of the following institutions was not founded by Mahatma Gandhi? / R#aafaf@a # @ Fla w1 FHyT Agrean aeh & garr wufia
=T8T R ara ar?

1. Seva Gram / 9T ITH



2. Phoenix Ashram / m A
3. Banaras Hindu University / §RH feig_fa@faaraa
4, Sabarmati Ashram / GTERAAT THH

Correct Answer :-

« Banaras Hindu University / IeIRH %?@ ﬁf?l@lﬁﬂﬁl’q

39) Which of the following was the most important reason for lowest sex ratio in the 1991 census of India? / fFAfaTRT & ¥ F4T 1991 H TR
Y SAMOTAT & Fad FH AT T FIH AgeaqET FROT AT?

1. Sex selective abortion / PhedT 30T TT
2. Malnutrition / ngfI'EI'UT

3. Son preference / G grafHedr

4. Undercounting / 3T9IT0TAT

Correct Answer :-

« Sex selective abortion / T T &AT

40) Which of the following is the most prominent problem that a teacher faces while teaching social science? / Croicico kR kack:ikcr:d
W GAET 8, S O ferE Y et R 9o & ghe s g

1. Balancing the different learning needs of the pupils / faranf¥at & faffear 31ferer 3maeamarsi & Hﬂﬁﬁ DT
2. Helping all students to get maximum marks / 3T STAT Bl 3TARTH 37 UTH T H AGE, BT

3. Helping the students to meet long-term goals / STAT &Y &Yeiehioreh of&=at Y ke H TG AT

4. Accommodation of diversity of the students character / ST & TR 6 TATIYAT FT 3MarT

Correct Answer :-

« Balancing the different learning needs of the pupils / Tt & i 3779 3maTeharait & Pﬂﬁﬁ hAT

41) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / HRA-UTfhEdT & vy gz}ra:maﬁmrm fa&ToT
§3T|'?

1. 1999
2. 1965
3.1984
4. 1971

Correct Answer :-

- 1971

42) Which among following schemes was first implemented for the alleviation of poverty in India in the year 20152 / ﬁﬂma' FA T
ATl & 2015 # SR H I Ieoerer & forw amp Hr 71 o

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / FeTcaT Il I Ameiior AR IR fafagar
2. Pradhan Mantri Gram Sadak Yojana / TS TTH gsh Iratr
3. MUDRA scheme / HgT Irafer

4. Central Cooperative Scheme / e,/ T TghRT Tl

Correct Answer :-



« MUDRA scheme / [T St

43) Where is the head quarters of United Nations situated? / FI'{F’H WETWWV@H%"
1. San Francisco / & ifaEe!

2. Washington / aTfRTe=

3. New York / =g ?JI"E%
4. California / ST

Correct Answer :-

« New York / =

44) In the modern education system, the role of social science teacher is as: /mgﬁmmm #, arfare Qe Rrers i H@Tﬂ'ﬁ
THR §:

1. Follower / W

2. Friend / 39

3. Facilitator / 3-]%?‘\’]75

4. Philosopher / SRITITEAT

Correct Answer :-

« Facilitator / 3-1?-@'?]?5

45) How much is adiabatic cooling rate? / URIsH ofia g3 (vf3amafes Tfﬁ'ﬂ o) fFaer &2
1. 5° C/Km

2. 8° C/Km

3.15° C/Km

4,10° C/Km

Correct Answer :-

« 10° C/Km

46) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment of 500 ‘PAGODAS’. / 38 JH T ATH Fard
foraar fafeer #1500 a2 & Spararet W T T F AR Fa & AT Fevgr warer feam am

1. Bidar / f9eR

2. Bijapur / €T QX
3. Berar / SRR

4. Golconda / 91 5!{45' E)

Correct Answer :-

« Golconda /9 6@ E)

47) Who founded the city of Agra? / 39T T FT TAIAT fFHar H?

1. Humayun / §?3|T€i

2. Shah Jahan / T&STal



3. Akbar / 3he{
4. Sikandar Lodhi / ey aely

Correct Answer :-

« Sikandar Lodhi / ReheY oredt

48) When was the First Battle of Tarain fought? / dRIgsT T YUH JGE Hd ST JAT AT?
1. 1206 A. D.

2. 1195 A. D.

3. 1191 A. D.

4. 1175 A. D.

Correct Answer :-

« 1191 A. D.

49) The study of ‘Man'’s ethos' is: [/ "HJH & PR BT AT = giar %:
1. Psychology / TTSehlelioi

2. Sociology / TR

3. Anthropology / TTTTelTSiT

4. Geology / foraetisit

Correct Answer :-

« Anthropology / YIS

50) Which of the following statements is correct regarding social science? / fFrafafaa § § 919 W1 $y= e foaa &
Hay ¥ e 82

1. Social Science can be optional at school level. / ATATToIR fa=iTeT famer TaX uX depfeus 'E'?f Hehdl %I

2. Social Science studies only the events of the past. / TrTTSep fa=iTe Shaer 3T & Tean3il &r 37€TTT hidr %l

3. Social Science is a harmonious blend of various subjects. / AT Ta<iT, fafde= fawf &r WE'FJ{U‘[ FrsoT

4. Social Science subject matter changes according to the ideals of the ruling party. / TR T fAvg %, WIF 3d@ & 3G & SIER ol 8|

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / TSI fa<ie, fafdee fawat @t WE'P?I'CLU‘[ GRS

51) Students re-create the teachers’ apparatus in which a paper clip tied to a string ‘moves’ over a magnet. This method
is called . | BT, A&/ IuHTUI HY YH: 9P I &, O TP 4o & FW U [T T §u1 YRR fFay avman wrar @1 39 fafdr
Ll P oI 8l

1. Inquiry Resolution / SiTer W:q

2. Guided Inquiry / AR PGB

3. Open Inquiry / 311G TSds

4. Invitation to Inquiry / Sita & fore fRaor

Correct Answer :-

« Guided Inquiry / fAERT qoars



52) An observation which is written like a short story is known as: / B! FeH! P @8 forfad v s@ei® = w0 & wrET
EIGIE

1. Conduct Register / e IFTHX

2. Anecdotal Record / SUTEITATCHE Rl

3. Teachers Log Book / f1&Tes it qh

4, Cumulative Record /ﬂ"_cﬁiﬂ ﬁm"@‘

Correct Answer :-

« Anccdotal Record / SUTEITATCHE Repis

53) Who among the following was popularly known as the ‘Frontier Gandhi’? / Frafafea & 3 f5 wiear widh & T J 5= ST A
1. Maulana Abul Kalam Azad / #terelr 3Tefel Shelld AHTolle
2. Igbal khan / $ehdTel Wil

3. Abdul Ghaffar Khan / 3Teqel TFHR Wiet

4. Hasrat Mohani / 883 &gl

Correct Answer :-

o Abdul Ghaffar Khan / 3-1%? IFPR Gled

54) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social work? / 1896 T AT XTgd 3R grTfre
PR TR I & g I R 3t RirgEn e e

1. Swami Vivekananda /! faddrg
2. Ramakrishna Paramahansa / IJ[HRTOT rerec)
3. Swami Dayananda Saraswati / T &dTee, TREAAT

4. Blavatsky and Olcott / <elTaTe®ht AR Hedc

Correct Answer :-

« Swami Vivekananda / TTH} fadeTe

55) In which year was the Dutch East India company formed? /S é‘&' Eﬁ:'q'l S BT T+ fob af A fovam war U2
1. 1616
2.1620
3. 1614
4. 1602

Correct Answer :-

o 1602

56) Where in the “Ninety East Ridge” submarine volcanic ridge located? “ATg+TdY §¥¢ R & ARReT Fﬂw gaaaeft () Fal Rua &2
1. Indian Ocean / %EH?THW

2. Arctic Ocean / 3T HSTHTIY

3. Atlantic Ocean / 3T¢eli{ed HTTHEIR

4, Pacific Ocean / URITd FATTHIRX

Correct Answer :-



57) The largest contiguous cotton-growing region in the world is located in which among the following countries? / RFfaf@a ;R
H 1399 #1 gad 931 AFAfed FIH Icaes a7 Rua €2

1. China / =¥

2. United States / 'H'g?ﬁ T AR
3. India / AT

4. Pakistan / OTfehEdTel

Correct Answer :-

« United States / l:i'ﬂ_vﬁl = TARET

58) The only two landlocked countries of South American continent are____/ afaor AR H?T?@‘Tq F had gl FgeT-eH aer - %I
1. Surinam and Guyana / ﬁ'ﬂﬂm 3R pICIG

2. Columbia and Paraguay / Frerfaar AR R

3. Bolivia and Paraguay / @vefifarar 3R tRea

4. Ecuador and Parana / S&ATSR 3R URTET

Correct Answer :-

« Bolivia and Paraguay / @teiriaar 3R &Rrea

59) Which among the following is the lowest level of a body of water such as an ocean or a lake? / fAFfaf@a A A FT ATTFR 47 3hter steY
T Y IFTE FT g AT T R?

1. Demersal / Sl
2. Neritic / ARTEH
3. Benthic / f=g®
4. Pelagic / Ueiford

Correct Answer :-

« Benthic / 9f=d

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating Gandhiji’s candidate Pattabhi Sitaramaiyya? /
aefislt & 3eiear gearf® faretar 1 g 1939 # Bl w9 # wia FEw F ey gafraifEa fre e

1. Dr. Rajendra Prasad / &F. Jig, UG
2. B.J.B.Kriplani / &1 31.d. Faerreir

3. Subhash Chandra Bose / §HTY g g
4. Nellie Sengupta / it QFWIHT

Correct Answer :-

+ Subhash Chandra Bose / §HTY Ig a9



